(Descriptive - Research)

(2537)

(2536)



2.1

2.11

2540

2540

95,842

NN N, 0, N B o

3971
2532
2646
2251
3901
3195
3737
8154
1395
560

75



2540

LW W P B W BEwW LW LW WP B W P PO WD PP o

—_
—
o

2501
3697
5289
1419
1981
1935
4155
2010
2020
1666
1393
464

4339
741

2910
3532
1414
3644
4815
1726
3329
3257
3226
3990

95,842

76
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2.1.2

2540

5,406

2540

329
700

100
127
186
382
67

220
318
200
587

525
60

943

190
21
445

5406

22



78

2.2
2.2.1 95,842
Table for Determining Sample
Size form a Given Population (Yamane, 1970) +5%

398
(Multi-Stage Sampling)

2529)




[ N G T N R S R o N N T\ G T G A T O S Ty

2540

399

1605
518

409
3901
1966
1053
635

1922
664

948

312

561

1336
1151
1215
309

454

606

132

314

992

511

22513

-
30
9
5
69
36
19
12
32
12
16
6
9
22
22
22
6
8
10
12
5
19
10

398

79
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2.2.2 5,406
Table for Determining Sample
Size form a Given Population (Yamane, 1970) +5%
375
(2529) 77
4
2540
L 202 17
2. 82 7
3. 383 32
4, 317 26
5. 127 11
6. 186 16
1. 382 32
8. 220 18
9. 318 21
10. 200 17
11. 460 39
12. 518 44
13. 425 36
14, 445 37
15. 190 16

4455 375



2.3

2.2.3

713

231

2.3.2

23.1.1
2.3.12
2.3.13
2.3.14
2.3.15
2.3.1.6

23.2.1
2.3.2.2
2.3.2.3

8l



3.1
3.11

10

(Likert Scale)

1
(Check List)

2
9
3
4
7
2, 3, 4
5

(2537)

17

17

17

82



3.1.2

3.2

321
3211

(Rating Scales)
3.2.1.2

3.2.1.3 3

3.2.1.4 '

60

83



3.2.1.5
13

3.2.1.6

3.2.1.7
(Reliability)
(Alpha Coefficient) (

0.75
a

15
28

. 2540)

254

84
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2

3.2.1.8

Pearson  Product Moment

Correlation Coefficient ( , 2540)

NIXY - IX1Y

NI OINIX2 - (IX)2] [NTY2- (1Y)

r t-test (

t t

t t degree of freedom = -2



t t degree of freedom =

51

3.2.1.9

3.2.2

3221

3.2.2.2

3.2.2.3

3.2.24

4.1
4.1.1

1-4

412
990
919

-2

92.83

86

1-4



4.2
)
(Statistical Package for Social Science : SPSSIPC )
5.1
5.2
(Sx)
52.1 (X) (
2539)
XX1
N
X
XX1
N
5.2.2 (%)
, 2529)

XfX2- (X fX2)
N (N-1)

87



X 54,3 21

51

1.00-1.80
1.81-2.60
2.61-3.40
3.41-4.20
4.21-5.00

08
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(One-Way Analysis of Variance) F
, 2529)
Msa
MSW
F
df F
(Source) (X-X)2 SS MS = ss/df
k-1 Ssa Msa= Ssal k-1 MsalM Sw
(Among group)
N-K MSWe ssw/ N-k
(Withingroup)
(Total) N-1 SST
Sa =
SST
MSa =
MSW
(.05)

(Scheffe’ Test) (

2540)
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= HCdf, df MS,
F(iCdd) F F
- a dfb = k-1 dfw =
N-k ok ( F)
MSW
1 nj
7.
(X) (t-test)
(t-test) (Ferguson, 1971)
>(1-)(2
A/ 20+ 2
[ 1 2
t
=<1 1
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